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2. (A) : 

(R) : 

(A) (A) (R) (R), (A) 

(B) (A) (R) (R, (A) 

(C) (A) (R) 

(D) (A) (R) 

3.

(A) (B)
(C) (D)

4.

(A) (B)
(C) (D)

5.

(A) (B)
(C) (D)

1. Who among the following is considered the father of
Macroeconomics?
(A) Adam Smith (B) Karl Marx
(C) Alfred Marshall (D) J.M. Keynes

2. Statement (A) : The benefits of social security system
are available to the employees of the organized sector.
Reason (R): The earning of the workers in the
unorganized sector is fixed as compared to the
organized sector.
Select the correct answer with the help of the codes
given below.
(A) (A) and (R) both are correct and (R) is the correct

explanation of (A).
(B) Both (A) and (R) are correct and (R) is the correct

explanation of (A).
(C) (A) is correct but (R) is wrong
(D) (A) is wrong, but (R) is correct.

3. Which of the following statement(s) is/are true with
respect to the unorganized sector of the economy?
1. There are no rules and regulations for the

unorganized sector.
2. Here employment is not secure and workers can

be fired without any reason.
Code:
(A) 1 only (B) 2 only
(C) Both 1 and 2 (D) Neither 1 nor 2

4. Which of the following statement(s) is/are true?
1. Most of the working people in the economy of

developed countries are employed in the service
sector only.

2. The higher the development of primary and
secondary sector, the higher will be the
development of tertiary sector.

Code:
(A) 1 only (B) 2 only
(C) Both 1 and 2 (D) Neither 1 nor 2

5. Consider the following statements-
1. The sector in which a commodity is produced

directly by using natural resources is called
primary sector.

2. Those activities, in which natural products are
converted into other forms through the
manufacturing system, come under the secondary
sector.

Which of the above statements is/are true?
Code:
(A) 1 only (B) 2 only
(C) Both 1 and 2 (D) Neither 1 nor 2
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6.

(A) (B)
(C) (D)

7.

(A) (B)
(C) (D)

8.

(A) (B)
(C) (D)

9.
(A) (B)
(C) (D)

10.

(A) (B)
(C) (D)

11.
(A) (B)
(C) (D)

12.

(A) (B)
(C) (D)

13. (Closed Economy) 

(A)
(B)
(C)
(D)

14.

(A) (B)
(C) (D)

15. (Globalisation) 
(A)
(B)
(C)
(D)

6. Tertiary sector includes under economic activity.
1. Banking 2. Education
3. Health 4. Communication
Code:
(A) 1, 3 and 4 only (B) 2, 3 and 4 only
(C) 1, 2 and 3 only (D) 1, 2, 3 and 4

7. Read the statements given below carefully.
1. Tertiary sector activities do not contribute to the

production process, but produce goods on their own.
2. Secondary sector is also called 'service sector'.
Which of the statements given above is/are false?
(A) 1 only (B) 2 only
(C) Both 1 and 2 (D) Neither 1 nor 2

8. Read the following statements carefully-
1. People in India get maximum employment under

the primary sector.
2. The tertiary sector contributes the most to India's

GDP.
(A) 1 only (B) 2 only
(C) Both 1 and 2 (D) Neither 1 nor 2

9. Secondary sector includes under economic activities.
(A) Manufacturing (B) Animal Husbandry
(C) Mining (D) Forestry

10. Which economic issues are included under
macroeconomics?
1. Fiscal Policy  2. Monetary Policy
3. Inflation and deflation 4. Government budget
Select the correct answer using the code given below
(A) 1 only (B) 1 and 4 only
(C) 1, 2 and 4 only (D) 1, 2, 3 and 4

11. The planned economy in India is based on.
(A) On Gandhian system(B) On socialist system
(C) Capitalist system (D) Mixed economy

12. Which sector contributes the most to the Gross
National Product of the Indian economy?
(A) Primary Sector (B) Secondary Sector
(C) tertiary sector (D) public sector

13. 'Closed economy' is that economy in which.
(A) Money supply is fully controlled
(B) Deficit financing is done.
(C) Only exports take place.
(D) neither export nor import takes place

14. What is such an economy called, which does not have
any connection with the rest of the world?
(i) Socialist economy (B) Closed economy
(C) Open economy (D) Mixed economy

15. 'Globalization' means.
(A) Integration of the economy
(B) integration of financial markets
(C) Integration of the domestic economy with the

global economy
(D) Integration of various sectors of the economy
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(Maharatna and Navratna In India / )

 Criteria For Maharatna Status / 
 The company should have “Navratna” status. / 
 The company should have an average Annual Turnover of more than Rs. 25,000 crores during the last 3

years. / Rs.
 The company should have an average Annual Net Worth of more than Rs. 15,000 crores during the last 3

years. / Rs.
 The company should have an average Annual Net Profit after tax of more than Rs. 5,000 crores during the last

3 years. / Rs.
 List of Maharatna Companies/ 

No.                 Company /  Acronym /  Founded /  

1. 
Bharat Heavy Electricals Limited /

 
BHEL  1964 

2. 
Bharat Petroleum Corporation Limited /

 
BPCL 1952 

3. Coal India Limited /  CIL 1975 

4. 
Gas Authority of India Limited /

 
GAIL 1984 

5. 
Hindustan Petroleum Corporation Limited /

 HPCL 1974 

6. 
Indian Oil Corporation Limited /

 
IOCL 1959 

7. 
National Thermal Power Corporation Limited 
/  NTPC 1975 

8. 
Oil and Natural Gas Corporation Limited /

 
ONGC 1956 

9. 
Steel Authority of India Limited /

 
OIL 1959 

10. 
Power Grid Corporation of India Limited /

 PGCIL 1989 

11. 
Power Finance Corporation Limited  /

 
PFCL 1986 

12. 
Rural Electrification Corporation Limited  / 

REC 1969 

13. Oil India Limited /  SAIL 1954 
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 Department of Public Enterprises (DPE) under the Ministry of Finance, upgraded the status of 2 oil sector
Central Public Sector Enterprises (CPSES) namely Oil India Limited (OIL) and ONGC Videsh Ltd (OVL). The
status of OIL and OVL has been upgraded to the status of Maharatna and Navratna CPSEs respectively. Earlier
OIL was a 'Navratna' CPSE, while OVL was a Categry-I`Miniratna CPSE. / 
(DPE) (CPSES) (OIL)

(OVL)
OIL CPSE OVL I CPSE 

 Oil India has become the 13th Maharatna Central Public Sector Enterprise (CPSE) in India. / 
(CPSE)

 Chairman & Managing Director (CMD) of Oil India Limited: Dr. Ranjit Rath. / 
(CMD)

 Having achieved Navaratna status in 2010, Oil India’s recent acquisition of Numaligarh Refinery Ltd. / 

 Also, the government elevated ONGC Videsh Ltd (OVL) to Navratna CPSE. OVL will be the 14th Navratna amongst
the CPSEs./ (OVL)

 Rajarshi Gupta has taken over as Managing Director of ONGC Videsh Limited (OVL)/ 
(OVL)

Note:– Both OIL and OVL are under the administrative control of the Ministry of Petroleum and Natural
Gas (MoP&NG), Government of India (GoI)./ OIL OVL

(MoP&NG)




